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 Subject : English 

Given below is a passage describing Akbar the great Mughal ruler. Complete the passage 

by filling in the gap choosing the answer from the given option. 

 

Akbar was the greatest Mughal Emperor. He was known for his (a) -------------. His (b) ---------- 

of  soldiers fought several (c) -------------- under his (d) ---------------.He married the Hindu 

princess (e) --------------- which revealed how tolerant he was. 

 

 

(a)  (i)  anger         (ii)  politeness        (iii)  wisdom      (iv)  cowardice 

(b)  (i)  group        (ii)  army                (iii)  fleet            (iv)  shoal 

(c)  (i)  wars          (ii)  disputes           (iii)  rulers          (iv)  animals 

(d)  (i)  rule           (ii)  domain            (iii)  kingdom     (iv)  sovereignty 

(e)  (i)  Jodhabai   (ii)  Padmini           (iii)  Shakuntala  (iv)  Lakshmi Bai      

 

 

Maths 

1. The face value of 5 in the numeral 2152882 is 

A. 50000 

B. 5 

C. 500000 

D. 5000 

 

   2. Which one is not meaningful? 

A. XXX 

B. LX 

C. XL 

D. LL 

 

3. What is the Roman numeral for 88? 

A. LXXXVIII 

B. CXXXVIII 

C. XLVIII 

D. LXXXIII 



4.  How many 8- digit numbers are there? 

A. 99999990 

B. 9999000 

C. 9000000 

D. 90000000 

5. The number of whole numbers between the smallest whole number and the greatest 2-digit number 

is 

A. 88 

B. 98 

C. 99 

D. 101 

 

 

Subject : Physics  

MULTIPLE CHOICE QUESTION( Select the right option):-- 

1.One of the following typesof motion will not be exhibited by the moon moving around the earth.This 

motion is 

 a) rectilinear b) periodic c) rotational d) circular 

2.A bicycle is moving on a straight road. Which of the following types of motion is exhibited by it ? 

 A) rectilinear B) periodic C) rotational D) circular 

 a) A and B b) B and C c) B and D d) A and C 

3.Which of the following typesof motion are possessed by a merry-go-round.At the same time ? 

 A) rectilinear B) periodic C) rotational D) circular 

 a) A and B b) B and C c) C and D d) A and C 

4.A communication satellite is stationed in an orbit high above the earth.Which of the following will 

not be exhibited by this communication satellite? A) rectilinear B) periodic C) rotational D) circular 

 a) A and B b) B and C c) C and D d) A and C 

5.Choose the smallest and biggest units of length from the following: 

 A) cm B) m C) mm D) km 

 a) A and B b) B and C c) C and D d) A and C 



Subject: -Chemistry                                 

                                   Multiple Choice Question (MCQ)  

1. We group thing together because …………  

(a) Dividing materials in groups make it convenient to study their properties and observe patterns 
in these properties.  

(b) We can throw away similar materials.  

(c) We can keep similar materials in our rack at one place.  

(d) We can keep similar materials on the palm.  

  

2. The materials through which objects can be seen, but not clearly, are known as ……….  

(a) Soluble  

(b) Opaque    

(c) Translucent  

(d) Transparent  

  

3. Which of the following is transparent?  

(a) Milk  

(b) Iron  

(c) Wood  

(d) Glass  

  

4. Rocks, iron and many metals are ……………  

(a) Soft  

(b) Hard  

(c) Transparent  

(d) Lighter  

  

5. Wood, rubber or a piece of work is …………  

(a) Transparent  

(b) Lustrous  

(c) Non-lustrous  

(d) Translucent 

 

 



 

Subject: Biology  

Multiple choice questions :  

  

1. The first link in all food chain is :-  

a) Herbivore      b) Carnivore        c) Plants       d) Omnivores  

  

2. Which of these ingredients is not obtained from plants or animals?  

a) Salt     b) Honey      c) Wheat        d) Milk  

  

3. Which of the following animals does not have teeth?  

a) Snake       b) Lion       c) Mosquito    d) Elephant  

  

4. Identify the spice  

a) Nutmeg        b) Wheat    c) Banana     d) Salt  

  

5. Which of the stems are edible?  

a) ginger, onion, potato  

b) carrot, radish, pumpkin    

c) carrot, ginger, onion  

d) onion, potato, garlic   

  

 

Subject: S. S. T 

 

Q. Multiple choice question[MCQ]  

1. How far is the sun from the earth?  

a.100 million km             b. 500 million km        c. 150 million km                d. 200 million km  

2. The Asteroid belt is found between  

a. Earth and Mars            b. Jupiter and Mars        c. Sun and moon               d. Saturn and Mars  

3. The planet closest to the Sun  

a. Mercury                       b. Mars                           c. Uranus                        d. Neptune  

4. The name of our Galaxy is  



a. Milky Way                  b. Orion                           c. Solar system               d.Ursa major  

5. Meteorites are also known as  

a. Shooting stars             b. Asteroids                     c. Meteorites                  d. Evening stars  

  

 

Subject : Computer 

Multiple choice questions (select the correct one):- 

   

1. The translators that can convert High-Level Language to Machine-Level 

language. 

a) Compiler  

b) Interpreter        

c) Both of these    

d) None of these 

 

2. _______ Language enables a user to communicate with computers by using 

specific symbols, characters and usage rules. 

a) Assembly    

b) Machine        

c) Programming      

d) None of these 

 

3. The Language translators are used for ___________ . 

a) Converting    

b) Controlling          

c) Developing 

d) None of these 

 

4. In ________ Languages the programs instructions comprise lists of steps, 

procedures. 

       a) Non-Procedural      

       b) Procedural                    

       c) Assembly 

       d) None of these 

 

5. Databases, Visual Basic, C++ are considered as the __________ generation 

language. 

a) Fourth      

b) Second                    

c) Third 

d) None of these 
 



 



                             fgUnh fu;r dk;Z &8 

   fnukad%28-04-20          fo"k;% fgUnh            d{kk% 6 

  iz’u% fn, x, iz’uksa ds lgh fodYi pqusa%& 

  1½ ftu ’kCnksa ls fdlh O;fDr] LFkku ;k oLrq ds xq.k] n’kk] Hkko ;k fLFkfr dk cks/k gks     
mls&&&&&laKk dgrs gSaA  

  d½ O;fDrokpd        [k½ tkfrokpd         x½ Hkkookpd       ?k½ nªO;okpd 

 2½ ftls djuk vko’;d gks& 

  d½ vfuok;Z           [k½ vkthou           x½ vuko’;d       ?k½ vuar 

 3½ xkf;dk ds Loj esa &&&&&gSA mfpr Hkkookpd laKk HkjksA 

  d½ ehBk              [k½ ehBkiu            x½ feBkl          ?k½ feBkbZ 

 4½ Hkkjr dh  &&&&&&fgUnh gSA 

  d½ jk"VªHkk"kk           [k½ ekr`Hkk"kk           x½ fir`Hkk"kk         ?k½ cksyh 

 5½ dkSu lk dFku lgh ugha gS\ 

  d½ Hkk"kk dh lcls NksVh bdkbZ o.kZ gSA         [k½ Lojksa dh la[;k 11 gSA 

  x½ o.kksZa dk lewg o.kZekyk gSA                 ?k½ ckrphr Hkk"kk dk fyf[kr :Ik gSA 

                

             ----------------------------------------------------------------------------------------------------------                                              



fu;r  dk;Z &8 

fo’k; &laLd`r                               fnukad-28-04-2020         

d{kk-6 

fn, x, fodYiksa esa ls lgh fodYi pqudj fy[ksaa& 

iz”u 1  ,’k% dk cgqopu :Ik gS & 

        d) ,’kk   [k) ,rs   x) ,rkS   ?k)bes  

iz”u 2  d% dk cgqopu :Ik gS&  

        d) dk    [k) dks   x) ds    /k) dkfu  

iz”u 3 v”o% dk f}opu :Ik gS & 

        d) v”os   [k) v”oe~  Xk) v”okS /k) v”ok%  

iz”u 4 ,rr~ dk cgqopu :Ik gS&   

        d) ,rs    [k) ,rkfu   x)-,rk%  /k) ,rkS 

iz”u 5- vge~ dk cgqopu :Ik gS&& 

        d) vkoke~  [k) Roe~   x);w;e~   /k)o;e~ 


